
©u m2n0l1o9v xK`udtpau YSQoFfdtxwhaNrnen FLiLZCZ._ t OAKl_lk VrQiWgUhatnsN JrreJsReJrnv[eJdv.r S AMcaQd[eu kwwi^tLhO LIjncfNiKnhirtAeM cC_aBllcCudlAuWsd.

Worksheet by Kuta Software LLC

Calculus

Practice- Power Rule for Derivatives
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Differentiate each function with respect to the given variable.

1)  h(r) = 2 2)  y = -3

3)  h(r) = -4r4 4)  g(t) = 2t3

5)  f  = -
1

t2
6)  f  = -2x-3

7)  g = 
4

x4
8)  f  = 4s-4

9)  g(x) = 
4

x2 10)  h(t) = 3t
1

5

11)  g(s) = 
5
s 12)  g(w) = 5

5
w2

13)  f (w) = 2
4
w 14)  h = 

4
r

15)  s = 4
4
r 16)  h(r) = 5

5
r
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17)  h(t) = -4ta 18)  g(w) = 3w4b

For each problem, find the instantaneous rate of change of the function at the given value.

19)  y = x2 + 2x - 2;   -1 20)  y = -2x2 + 2;   -1

21)  y = 2x2 - 1;   1 22)  y = x2 + 2x + 1;   -2

For each problem, find the equation of the tangent line to the function at the given point.

23)  y = x2 - 1;  (2, 3) 24)  y = x2 + x + 2;  (-1, 2)

25)  y = x2 + x + 1;  (-2, 3) 26)  y = x2 + 1;  (0, 1)

Evaluate each limit.

27)  lim
h®0

(2

3
 + h)2

 - (2

3)2

h
28)  lim

h®0

(5

3
 + h)2

 - (5

3)2

h

29)  lim
t®0

(1

3
 + t)4

 - (1

3)4

t
30)  lim

t®0

(2

3
 + t)2

 - (2

3)2

t

31)  lim
x®0

3
5 + x  - 

3
5

x
32)  lim

x®0

(- 1

3
 + x)3

 - (- 1

3)3

x



©^ d2j0E1f9C BKOudtFaF uSFoIfFtSw\airwe[ TLqLhCF.] P wAslplt Troi`gDhPtLsG YrPevsGexrcvAehdf.P y DMcaMdFeF uwLiqtuhl ZIVnGfjiGniiGthew hCIaElucYu\lpuXsP.

Worksheet by Kuta Software LLC

-3-

Answers to Practice- Power Rule for Derivatives (ID: 1)

1)  h'(r) = 0
2)  
dy
dt

 = 0
3)  h'(r) = -16r3 4)  g'(t) = 6t2

5)  
df
dt

 = 2t-3 6)  
df
dx

 = 6x-4 7)  
dg
dx

 = -16x-5 8)  
df
ds

 = -16s-5

9)  g'(x) = -8x-3

10)  h'(t) = 
3

5
t

-
4

5 11)  g'(s) = 
1

5
s

-
4

5 12)  g'(w) = 2w
-

3

5

13)  f '(w) = 
1

2
w

-
3

4 14)  
dh
dr

 = 
1

4
r

-
3

4 15)  
ds
dr

 = r
-

3

4 16)  h'(r) = r
-

4

5

17)  h'(t) = -4ata - 1 18)  g'(w) = 12bw4b - 1 19)  0 20)  4
21)  4 22)  -2 23)  y = 4x - 5 24)  y = -x + 1
25)  y = -3x - 3 26)  y = 1

27)  
4

3
28)  

10

3

29)  
4

27
30)  

4

3
31)  

3
5

15
32)  

1

3


